
 

 (A-41) P. T. O.  

Roll No. ...................................  

D–3032 

B. Com. (Part II) EXAMINATION, 2020 

(Group—III : Applied Economics) 

Paper First 

BUSINESS STATISTICS 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks.  

bdkbZ&1 

(UNIT—1) 

1- lkaf[;dh; lead dh ifjHkk”kk nhft,A mi;qDr mnkgj.k nsrs gq, 

mudh fo’ks”krkvksa dk mYys[k dhft,A  

Define statistical data. Mention its characteristics by giving 

suitable examples. 
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vFkok 

(Or) 

fuEufyf[kr leadksa ls xq.kksŸkj ek/; rFkk gjkRed ek/; Kkr  

dhft, % 

     550.8, 271.0, 133.92, 85.02, 63.45, 8.70, 0.92, 0.085 

Calculate geometric mean and harmonic mean from the 

following data : 

    550.8, 271.0, 133.92, 85.02, 63.45, 8.70, 0.92, 0.085 

bdkbZ&2 

(UNIT—2) 

2- leku ikB~;Øe djus okys nks Nk=ksa us fuEufyf[kr vad izkIr fd;sA 

Kkr dhft, fd fdlesa vf/kd ǹ<+rk gS \ 

Nk= A Nk= B 

58 56 

59 87 

60 89 

65 46 

66 93 

52 65 

75 44 

31 54 

46 78 

48 68 
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Two students offering the same course obtain the following 
marks. Find who is more consistent ? 

Student A Student B 

58 56 

59 87 

60 89 

65 46 

66 93 

52 65 

75 44 

31 54 

46 78 

48 68 

vFkok 
(Or) 

fuEufyf[kr leadksa ls ckmys dk fo”kerk xq.kkad Kkr dhft, % 

otu ¼fdxzk-½ O;fDr;ksa dh la[;k 

85 15 

90 18 

95 25 

100 19 

105 15 

110 7 

115 28 

120 12 

125 11 
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Find out Bowley’s coefficient of skewness from the 
following data : 

Weight (kg) No. of Persons 

85 15 

90 18 

95 25 

100 19 

105 15 

110 7 

115 28 

120 12 

125 11 

bdkbZ&3 
(UNIT—3) 

3- fuEufyf[kr lkj.kh ls dkyZ fi;lZu dk lglEcU/k rFkk lEHkkO; foHkze 
dh x.kuk dhft, % 

X-Series Y-Series 

20 14 

30 25 

40 30 

50 32 

60 40 

70 45 

80 65 
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Calculate Karl Pearson’s coefficient of correlation and 
probable error from the following data : 

X-Series Y-Series 

20 14 

30 25 

40 30 

50 32 

60 40 

70 45 

80 65 

vFkok 
(Or) 

,d ijh{kk esa lkaf[;dh vkSj vFkZ’kkL= esa 450 Nk=ksa }kjk izkIrkadksa dks 
fuEufyf[kr leadksa eas fn;k x;k gS % 

 lkaf[;dh vFkZ’kkL= 

ek/; izkIrkad 40 48 

izkIrkadksa dk izeki fopyu 12 16 

izkIrkadksa ds fopyu ds xq.kuQy dk ;ksx tks fd muds Øe’k% ek/;ksa 
ls fy;k x;k gS = 42075 
nksuksa izrhixeu js[kkvksa dk lehdj.k nhft, rFkk lkaf[;dh esa  
50 vad izkIr djus okys Nk= ds vFkZ’kkL= eas vkSlr vadksa dh x.kuk 
dhft,A  
The following data based on 450 students, are given for 
marks in Statistics and Economics at a certain examination : 

 Statistics Economics 

Mean Marks 40 48 

S. D. of Marks 12 16 
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Sum of the products of the deviations of marks from their 

respective means = 42075 

Give the equations to the two lines of regression and 

estimate the average marks in Economics of the candidate 

who obtained 50 marks in Statistics.  

bdkbZ&4 

(UNIT—4) 

4- fuEufyf[kr leadksa ls fQ’kj dk vkn’kZ lwpdkad Kkr dhft, % 

oLrq 
vk/kkj o”kZ pkyw o”kZ 

ewY; ek=k ewY; ek=k 

Hkkstu 16 50 24 45 

diM+k 18 30 24 25 

fdjk;k 20 5 15 8 

b±/ku 10 6 12 16 

fofo/k 10 10 14 12 

From the following data, find out Fisher’s Ideal Index 
numbers : 

Commodities 
Base Year Current Year 

Price Quantity Price Quantity 

Fooding 16 50 24 45 

Clothing 18 30 24 25 

Rent 20 5 15 8 

Fuel 10 6 12 16 

Miscellaneous 10 10 14 12 
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vFkok 

(Or) 

dky Js.kh fdls dgrs gSa \ blds dkSu&dkSu ls izeq[k la?kVd gSa \ 

vki budk fo’ys”k.k dSls djsaxs \ 

What is time series ? What are its main components ? How 

will you analyse them ? 

bdkbZ&5 

(UNIT—5) 

5- O;kolkf;d iwokZuqeku ds fy, iz;qDr lkaf[;dh; jhfr;ksa dk o.kZu 

dhft,A  

Describe the Statistical methods used in business  

forecasting.  

vFkok 

(Or) 

¼v½ nks ik¡lksa dks ,d ckj Qsadus ij de ls de 10 dk ;ksx vkus 

dh izkf;drk D;k gS \ 

In a single throw of two dices, what is the probability 

of getting a total of at least 10 ? 

¼c½ ,d FkSys esa 3 lQsn] 4 dkyh vkSj 5 yky xsansa gSaA rhu xsansa 

fcuk okil fd;s ,d ds ckn ,d ;knf̀PNd fudkyh tkrh gSaA 

izkf;drk Kkr dhft, fd igyh lQsn gS] nwljh dkyh vkSj 

rhljh yky xsan gSA  
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A bag contains 3 white, 4 black and 5 red balls.  

Three balls are drawn at random one after  

another without replacement. Find the probability  

that the first is white, second black and third one is red 

ball.  
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